EAGRAROBREERT — 2 N— ABISH —F

2020548270 (A) 2mAH#1H

N> —*—>a %% ci1c2 45%—#&

‘ [Ri&] & ‘ [REBE] — | & (%) 1600M 4E

[A&4£] 1 7% :2,600,000 ™ 23 :1,040,000 @ 33 :650,000 4 7% :390,000 @ .~ 5 7 :260,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- - ey 40, -1 389 — 1BAE (1)
i lgl1ol 7% h—KSL—J 4 5 Eg.Jo 1(45))9 1-1-1-1 | 38.9 1 (4;0) #?l%ﬂz“
:ANFXTNYT BIZYANXYT #E BE
~ = = o RERI&E 142, -10-9- . — FHEFAR (KH)
» p|35% 25 RNT— it 4 Ll 1(462)2 10-10-9-8 | 39.3 10 (4_613) S
LNZ—ka1—-X B:TLAHILR 7' ¥
. e = N AHIES . —6-7- — ZIRERIE (/)\HE)
35l 5| L= K51 it 5 xe 1.(422>.6 6-6-7-5 | 40.0 3 <4+627) Zhas gi
LHTIRIAY B —HL—1F4 k J—HrTr—L
—: Pom o #1158 : ~5-3- - A= (K#H)
4179 |LITFTIETZ b s 55.0 1(';/%4')7 R B ! (ﬁ?) e KitE=
RiVIRYTYZXIZ BiLAFHRE—= % J—HrTp—L
RN o PEAIRIE 142, —-8-8- . — HEEE (KHF)
51]1|FA>NTR—18— i 8 B 1(;253 8-8-8-7 | 40.2 5 :1+539) %.saa;ﬁ
L7 IHFLIY BV F/ TN J—Zf—F>
" i 4 | KERZ 1:43.5 3-3-2-2 |41.4| — 2 441 | EEENES (K3H)
6l7l8|&7#+2X 55.0 (3 1/2) (45 | EEEH
R:y=ZZX4—3=24— B:M1FZX HET7— L
S RN — 5 | BEEX 1:43.7 4-4-4-4 | 41.2| — 9 409 | SIREELE (/HE)
7 7 Ly VALY 55.0 (1 1/4) +1) EEESESS
LYY Y TR BiLy Kya—X NIERNTT—L
. B SE : 75— — AR (KH)
N | BRI it 6 i 1.(4;1).6 7-7-5-6 | 42.3 7 <5+187) ool
R:AYIRIA4Y BizytqdU—> =Eii e
s 3 4 4 | THF 1:44.8 9-9-11-10 | 41.7 | — 11 438 | GBI (KH)
9 1| 71>73=-97 55.0 (1 1/4) -6) ) hmo2F—T0
R:T—vT74—Z B:TUT4TULEZ AREG21—Tr—L
FEEZE 145, -11-10- . = JEF A (/)\HE)
1wl 6| X2—Yy bFA b - [ S L ’ 5_423) A
LT RIA Y L—> B:HYIRLTIHA #ett /—Zex
— s EHE :46. —-0-6- . - REERZ (KH)
1B 5| 7275 it 6 i 1(4:3)0 2-2-6-9 | 43.7 6 (4_713) VA‘E%:
TIWTFNT 2 BNTr—r4a% [QCRSDE ¢ ]
® 1 —F—EBIERL
13—7+— 10,3,8,7,9,5,4,1,11,2,6
20—F— 10,3,8,7,9,5,4,1,11,2,6
BEE 10,8,9,7,4,3,5,1,2,6,11
41—+ — 10,8,9,7,5,4,1,2,3,11,6
[ N3
B O 10 300/ 714K 2-10 2,880 7 E 2-8 15,500 RPEL ) 2-5-10 12,620
8 B 10 150M 5-10 380M B 8-2 15,420M K31 10-2-5 78,320
2 1,220 2-5 2,930/ B E 2-10 11,930M
5 140 BB 10-2 13,670M

ARICOVWTRDTEEERROODE. TR LI,




